EES i

RES FRTEHE P =628 AERRBEE BYEiE B
15 | HSBTHEOR=-THE 30 5 B BAN514 (1976) hEf A RILRREBRAY OS2 09
251 |BATEOR-THE 40 5 Bz FBAN514E(1976) RN EAAREBRY SHEH 2 04
35 EATHOR=TH6E 20 5 Bz FBR1514 (1976) FEM A | RERREBRY OEH2 09
A4S EBTHEOR=T H6E 30 5 B FBAN514E (1976) hEf A RILRREBRAY OS2 09
55 |EANEOR-TETE 30 5 Bz FBAN514E(1976) RN EAAREBRY SHEH 2 04
68t | EETHEORE-TH6E 30 5 Bz FBR1504 (1975) FEM A | RERREBRY OEH2 09
TEHE ABHEOR=T H6E 20 5 B BAN1504 (1975) hEM A RIERREBRD OS2 09
851 |HAWEOR-TETE 30 5 Bz FBAN504E (1975) RN EAARREBRY SHEH 2 04
95| |EETEOR-TETE 20 5 P BAAI524E (1977) hEfitk | RIAREBRY SiEH2 09
1058 EHRTHOR=THTE 30 5 B BAN524 (1977) hEM A RIERREBRD OS2 09
118 |&3HE0R-TETE 30 5 Bz RBAN524E (1977) RN EAARREBRY SHEH 2 04
1288 |(BRTROR-TETE 30 5 pgi BAAI524E (1977) hEfitk | RIAREBRY SiEH2 09
165 EHATHOR=TH2E 20 5 B BAN564 (1981) hEM A RIERREBRD OS2 09
1758 AHBHHEOR=TH2E 30 5 i FBAN564F (1981) REMA IR REBRD SHESH 2 049

FuREE—E (@RS CBICLVESLET, )

HES ABXS FETER ERmEE EBE BE AEERNE L HA fhE0E fEEYEINO
184 —REEE 3K 51.3m2 |68 - 68 -4 58 - K (4) o) x Ok A=A 3K_C
—REEE 3K 51.3m2 6F 68 -4 58K (4 O x Rk Pa=VA% 3K_C
= >om NN weHs., vy
254 —REEE 2L DK | 5L3m2 |68 -#(45) - LDK() ) o) SRk sy ;
—REEE 3K 51.3m2 6F 68 -4 58K (4 O x Rk Pa=VA% 3K_C
—REEE 3K 51.3m2 |68 68 -4 58 - K (4 @) x Bk VASIAPS 3K.C
35 BHRFREE 3DK 57.9m2 |6F - 4.58 - ¥(4.5) - DK(5) O @] FERKEE Zasy
—REEE 3LDK | 57.9m2 |6& -4.58 - #(6) - LDK(9) ¢) ) R Zasy *ﬁmgj f
—MEER 4 K 57.9m2 6&F -6 - 45& - 4.58 - KQ) O X A Jasy
6% - 4.58 - 458 1.5
4 5K —fEEEE 3DK 46.5 m2 2) - DK(5) (AT O X Rk Fassy 3DK_B
—mmE 30K | dpsmp [OR SR -ASEERANLS o x Sk —_rs KB
&) - DK(5)
— e 3DK | 465m2 |GE - ¥45) - @S - DKG) o o wan | e | FOR UYL e
6% - 4.58 - 458 1.5
55 —fmEE 30k | esmz L0000 (AN o x e 3DK_B
—mmE 30K | dpsmp [OR SR -ASEERANLS o x Sk —_rs KB
&) - DK(5)
B 455 - 458 1.
651 —RrEEE 30K | dpsmp |ORAOE-ASEERANLS o x e FAsy 3DK_B
) - DK(5)
6% - 4.58 - 4.58 .
—fEEEE 3DK 46.5 m2 A58 - A SB(TFANLS O x SRk Zassy 3DK_B
2) - DK(5)
754 —REEE 3K 51.2m2 |68 -6& -4 58K (3) @) x Ok A=A 3K_C
—REEE 3K 51.2m2 6F 68 -4 5&-K (3) O x R Pa=VA % 3K_C




8 51K —AEE 3K 51.2m2 |6&-68 -4 5&-K (3) K Zany 3K_C
—REEE 3K 51.2m2 |6&-6& -4 5&-K (3) K Zasy 3K_C
9 S BHEFREE 3DK 57.9m2 68 - 4.5 - ¥(4.5) - DK(5) R Jasy
—AEE 4K 57.9m2 62 - 68 - 458 - 458 - K@) K pA=A
105H# —RAEE 3K 51.3m2 |6& 68 458 - K (4) 32w 8 Zany 3K_C
—RAEE 3K 51.3m2 |6& - 6& 458 K (&) FERAE RSy 3K_C
1154 —AEE 3K 51.3m2 |6 -68 -4 58 K (4) K pA=A
—REEEE 3K 51.3m2 (6& 68 -4 58K (4) SRk Fasy
1254 —REEE 3K 51.3m2 6868 -4 58K (4 R Jasy 3K_C
—AEE 3K 51.3m2 |6 -68 -4 58 K (4) K Zany 3K_C
165H —RAEE 3DK 61.8m2 |6&-68-6F-DK (4. 5) 32w 8 Zany 3DK_C
1758 —RAEE 3DK 61.8m2 |6&-6F-6F DK (4. 5) FERAE RSy 3DK_C

TRITFE4FIRRE




